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1.  wgwy Fumaw feasos, 2014 S0 @il Siom fdum gmr o 2
(1) TR 286 wigen Iganr Fasus weadt.
(2) TR 288 AU e 20 AR Wi Igan frewear.
(3) wfga faamadda Rt 8%.
(4) TPEEETER TSITH Haid A1eT AagR | 3,
Which of the following statements is #rue about the Maharashtra Legislative
Assembly Election, 2014 ?
(1) Total 286 women candidates contested the election.
(2) Out of 288 seats, only 20 seats were won by the women candidates.
(3) Women’s representation in the Legislative Assembly is 8%.

(4)  On the basis of population, the largest constituency of the State is Thane.

2.  WRNERAT TEH Uit e 9ion (Toll policy) STed @refiet faramy foamua =
T 200 FIE TGRS Thed GRS SRoATd A0 ATE.
F. BFd 200 P TAYE WP TFCIETS! IR STHRAT AT
T TN T F gae TemHia o fmm 20 et oram.
Sl Hrt forar et sma ?
(1) &, 937
(2) A, TS
(8) & Hammy
(4) &,8, FAME
Consider the following statements about the New Toll Policy of Maharashtra :
a. Road projects completed under the budget provision, toll shall not be charged.

b.  The projects below ¥ 200 crores are not to be done under privatisation.

c.  Only for the projects above T 200 crores under privatisation the toll is to be
charged.
d. The distance between the two tolls on the same road shall be minimum 20 km.

Which of the above statements are correct ?
(1) a,bandc

(2) a,candd

(3) b,candd

(4) a,b,candd
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3.  ‘TUHET SH-69 A9 o Gielieiieh! hivE fae st 31Ed ?
¥,  WaeE Jfufdsd (overdraft) Haea.
%, ‘T g% 7% geg (@is 7= Hig.
3. uitew yr nid=mm afemgR Suevare eeielt @l qEida Sr.
(1) s, ganrs (2) A, g
(8) 9, Fars (4) 1,9, % M0

Which of the following statements regarding the ‘Prime Minister Jan-Dhan Yojana’

are correct ?

a. T 1lakh accident insurance to the account holder by debit card.

b.  Overdraft facility to the account holder.

¢.  Registered in the ‘Guinness Book of World Records’.

d. During the first five months the number of accounts opened by women were
more than those opened by men.

(1) a,bandd {(2) a,bande

(3) b,candd (4) a,b,candd

4. ooy Argelt Ire aEdta @refer fram foemua =
H., oA ‘wer (Kotta) I SREGHE ‘Tod! Tmm 2014 "1 fase 9 anEe.
g, o FieHhd 1992 1 1994 AT BT TETH! BN

%, ‘o g B 6%, Toe B g 1991 e T hell .
3. o JUEEHR GUR FEMR eIE 2.

Fleh! Frord faum Qs ARd ?
(1) 3 anfore (2) I, Fanmvr®
(38) #, wHafrs (4) 3,9, FAMNSE

Consider the following statements in respect of Veerappa Moily :

a. He was selected for ‘Saraswati Samman’ 2014 for his novel ‘Kotta’.

b. He was the Chief Minister of Karnataka from 1992 to 1994.

c. ‘Saraswati Samman’ was instituted by the K.K. Birla Foundation in 1991.
d. He was the Chairman of the Administrative Reforms Commission.

Which of the above statements are correct ?

(1) aandb (2) a,bande

3) b,candd (4) a,b,candd
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5.  affediet 2014 wed st Mo TUGE S 994 A B 2
(1) @ Tae siats e 2.
(2) @ st fruma Frasus R sfem Fafo e
(3) @ waTeH I9 TR,
(4) T uoN FAR A gHele AT4.

Why was Shri Ganpatrao Deshmukh in the news in October 2014 ?

(1). He won the Magsaysay Award.

(2) He created history by winning the Assembly election for the eleventh time.
(3) Heis a Sarvodayee leader.

(4) He is a follower of Anna Hazare.

6. THAEUH B gEIG R ?
(1) TTeTeR & HERIgrET 3641 fes 31,
(2) Foeamed yrerr, 9w, AT, WegR, 9T, e, R of sam § I ags
.
(3) JHE-FRR, SogR, SFIU] AT ITETER I1 IR TRYNGET 3R
(4) =l Thel T
Which of the following is false ?
(1) Palghar is the 36" district of Maharashtra.

(2) There are eight tahsils i.e. Palghar, Vasai, Mokhada, Jawhar, Wada, Talasari,
Vikramgad and Dahanu in the district.

(3} There are four Municipal Councils i.e. Vasai-Virar, Jawhar, Dahanuz and
Palghar in the district.

(4) None of the above

7. ‘T8 TeET: o6 3717 3N (R A YEIHT A HiV ARG ?

(1) IREL T (2) foErs e

(3) Tortor 5 (4) HYE MEE

Who is the author of the book ‘Good Governance : Never on India’s Radar’ ?
(1) Shekhar Gupta (2) Shivraj Patil

(8) Kiran Bedi (4) Madhav Godbole

FTEGT BETATS! SR / SPACE FOR ROUGH WORK P.T.O.
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8. ‘STAHTHIR FHTHATT Gt GATAHT Hioes qeeryeht wmiowd e gafaeh 77z 2

(1
2)

(3)
(4)

TR TEAITH SheAT AT,

ufEed [RIEed 6 d 24 WigTE geraw fhar T 20,000 @ ¥ 50,000 g5 R R
INGIRERIS IR

TET 9 JateA Taleed 12 § 36 Afew qerarars fer feeft smo.
FTE-AfeA fepam TIeTeRiAT wfgean TRIaee T 10,000 8 AT SO,

Which of the following punishments is nof proposed by the Cabinet in the
Amendment Bill to the ‘Child Labour Act’ ?

(1)
(2)

(3)

(4)

The offence should be cognizable.

For the first offence, imprisonment of 6 to 24 months or fine of
¥ 20,000 to ¥ 50,000, or both.

In case of a second or subsequent offence, imprisonment of 12 to
36 months.

Penalty of T 10,000 for the parents or guardians for the first offence.

9. R 2w T FOR v A7

(1)
(2)

(3)
(4)

TRV FAER (FHA TEIT) FETIA B

fareqor Sraet g,

gy et fier Ger s e s @,
fren wgm ot geRR fiesten 2.

Which of the following was not true about ‘Sitara Devi’ ?

(1)
(2)

(3)
4)

Came from a family of Kathakars (story tellers) from Varanasi.

Was trained in Kathak under her father Sukhdev Maharaj, Lacchu Maharaj
and Shambhu Maharaj.

Was named ‘Nritya Samragyini’ (Empress of Dances), by Rabindranath Tagore.

Was awarded with Padma Bhushan.

FoedT HTHATS! I / SPACE FOR ROUGH WORK
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10. Grefia foum faeme = .
#. R Taesn famie 5 o, 2015 sl wma Wesdian aigearge orE M L
¥ {ACSrA I Memed, T HrfRddia Tard ae g2-fo wed e Mifem arms.
. AT BRIGAAA 8 414t Fofew M.
(1) foum &1, a T, % I
2) foun s, % s, F TH
(3) foaum &1, % TR, I
(4) wd faam sew aga

Consider the following statements :
a. Cristiano Ronaldo scored five goals in a game for the first time while playing a
match on April 5, 2015.

b. Ronaldo’s five goals included the fastest hat-trick of his career in just eight
minutes.

c. It was his 415! career hat-trick,

(1) Statements a, b are correct, ¢ is false
(2) Statements b, ¢ are correct, a is false
(8) Statements a, ¢ are correct, b is false
(4) All the statements are correct

11, g veferean gmmeiea e seaen geia ST &= w0
N, W ATTRGHIIETO JAr G 99 g e 7 e 2y o
9. 3% GEE Heel, diee e Al asawia Aiee.
F. VAT 45 ANTG ToIEH GG hAd 7 fgel @ent fadees o,
TR feciea fqumidhr wod/somd ste TR ?
(1) e A (2) e 3 I 9
(38) A & Il % 4) 31, § anfr %

Consider the following statements about a bill on “Transgenders’ Rights’ :

a. The bill aims at equal rights for transgenders as common citizens.

b. It was moved by a DMK member of Parliament, Tiruchi Siva in Rajya Sabha.
¢. It is the first private member’s bill passed by Rajya Sabha in 45 years.
Which of the statements given above is/are correct ?

(1) aonly (2) aandbonly

(3) bandconly (4) a,bandc
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12, ‘31ed YW I 99d @it $9 gaia IR ?
(1) wgwr gvar= ferH o 18 a8
(2) wEWRT oA HUTE T9 40 T
(8) aniviigRA eTveT fee swoaren fpam wemaedt 20 oy fohan siftes
(4) geaw@ 1 JHar, 2016 9T
Which one of the following is false about ‘Atal Pension Yojana’ ?
(1) The minimum age of joining is 18 years
(2) The maximum age of joining is 40 years
(3} The minimum period of contribution by the subscriber would be 20 years or
more

(4) Would be launched on 15t January, 2016

13. ‘g oTRY UM A STEd Wil Hivi fFem g@#e ong 2
(1) GEE GYTEE HIVCATE! THR T gah T Tehard.
(2) 9N METER AHEET 5000 — 10000 =T FAH T
(3) WHER I Tad: T ush U Ihd TTEH.
(4) 2016 v4d U M 07 2019 A AR §F e Faesféa FET.
Which one of the following statements is not correct about the ‘Sansad Adarsh
Gram Yojana’ ?
{1) Member of Parliament should adopt any kind of village.
(2) Village should have a population of around 5000 — 10000.
(3) MPs should not adopt their own village.
(4) One village to be developed by 2016 and two more by 2019.

14. AFE gu ¥ S arr’ Srafiom afes o w2

(1) g : (2) Heg oW

(3) TeIEH (4) WERE

Which is the first State to run the human milk bank ‘Jeevan Dhara’ ?
(1) Punjab : (2) Madhya Pradesh

(3) Rajasthan (4) Maharashtra

15. HF TEEAEEN 14 T, 2015 st Pl Bem el visa-on-arrival’ ISR TE S
e, :

(1) e-spot-visa (2) e-arrival-visa

(3) e-tourist-visa (4) visa-at a-glance

The Union Home Ministry on April 14, 2015 decided to rename the tourist
‘visa-on-arrival’ scheme as .

(1) e-spot-visa (2) e-arrival-visa

(8) e-tourist-visa (4) visa-at-a-glance

HoEHT FHTHTS! AT / SPACE FOR ROUGH WORK
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16, ey @ sEd Qiefieash Hord foam g 2 ?

A i e warieret smutfa Teed.

. ft yw Pasad ge 8.

%, fafew wmam 292 9PN vamg e .

3.t fofay afterigr w e o@,

(1) HAenfrs (2) w e

8) =emfurg (4) AF, 9, HAMrg

Which of the following statements regarding the Constituent Assembly are true ?
a. It was not based on adult franchise.

b. It was a directly elected body.

c. 292 seats were allotted to the British India.

d. It worked through several committees,

(1) aandb (2) bandc

(3) aandd (4) a,b,candd

17. @reie fumitsh Sow st 7787 2
(1) Tsg=n SR ier T ol Rfga s,
(2) TEEwst ToAUTaIrhgd g el JTEe ST St 7t TSoaTerieh g AT HoedTJaR
g %o Irfte, enfor g o o/ uda 3 W siftewug o s,
(3) whvsen JeEEs e Wit I wgw W, Gumeien tgv gew @ei qu
TTRNET e FTEUR AE.
(4) oo a8e Wt i TR e aHE HH SEeR AL

Which one of the following statements is no# correct ?
(1) The executive powers of the State shall be vested in the Governor.

(2) The Chief Minister shall be appointed by the Governor and the other Ministers
shall be appointed by the Governor on the advice of the Chief Minister, and the
Ministers shall hold office during the pleasure of the Chief Minister.

(3) The total number of Ministers, including the Chief Minister, shall not exceed
fifteen percent of the total number of members of the Legislative Assembly.

(4) The number of Ministers, including the Chief Minister, shall not be less than
twelve.

TET BTSSR / SPACE FOR ROUGH WORK P.T.O.
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18,  YIAT=AT HERISETTHS: Ugd! 919d Wiciicdsh! Hiv fauas st&t 778t 2

(1) TSI TEeT gl YISSTaNT el hola T,

(2) HEUATH R WTRT YEUITET AR TSI ATE.

(3) wIRger wrdiT AT TS qEETET W SR,

(4) TSI THUEhIE Ugd WA AR gdl yH fRmeret SR,

Which one of the following statements is not correct about the Federal System of
India ?

(1} The term ‘Federation’ has not been used anywhere in the Constitution.

(2} The States have no right to secede from the federation.

(3) The All India Services violate the principle of federation.

(4) For the system of appointment of Governor, India has adopted the American
system.

19. el faum faemm o

A, 42 = PAGEHIHG AAHSBIET Foell TFIAIER SIS HAE Seien 38, g i
TG TSATETTS U STt T8

q. T TSI HTE el fGo glaT S T r@edrE Sivir, a1 YEErE B
ARITAATT SR HaT AR TE.

(1) = =R, 9 9%

(2) Fum =1 9, 9 TR

3) R fau g

(4) I faum T

Consider the following statements :

a. After the 4274 Constitutional Amendment, ministerial advice has been made
binding on the President, but no such provision has been made with respect to
the Governor.

b. The question whether any, and if so what, advice was tendered by the
Ministers to the Governor shall not be inquired into in any court.

(1) Statement a is correct, b is false

(2) Statement a is false, b is correct

(3) Both the statements are false

(4) Both the statements are correct

Fe4T SHIAIE! SR / SPACE FOR ROUGH WORK
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20, WA ATTGhed fEUT OaeI™ ¥ B9 AETE el B fau™ s 778t ?

(1)
(2)
(3)

AR AT ATTihea frafla® 3@,

TREHE W Ty A9 grafae.

AEiEs AHTIGT T Wi 9 HRGTETe TiEe.

(4) e AiguiHa qre auteaT ST 3T WTE U J6iEn EErd Hel,

Which one of the following does not lead to compulsory termination of Indian
citizenship ?

(1)
(2)
(3)

(4)

The citizen has obtained citizenship by fraud.

The citizen has shown disloyalty to the Constitution of India.

The citizen has been ordinarily residing out of India for seven years
continuously.

The citizen has, within five years after registration, been imprisoned in any
other country for a year.

21. Fraswesd tsuedie T s Aewn o

H.

.
©h.
E.

(1
(2)
(3
(4)

(1
(2)
(3)

H T

325 I o, 5ma, 3w a1 forr it Fvreard smaR sfear
HAGR TEUA 9T Jar JuR ATE

326 II. wagR |ere YRE

327 III. e AarfterrgR e

329 IV. WagR I dOR e

3 ¥ + S

I II1 v II

II III v 1

I II 11T v

III 1AY I i1

Match the pairs with regard to constitutional provisions relating to elections :
Article Provision
325 I.  No person to be ineligible as elector on the
grounds of religion, race, caste or sex

326 II. Delimitation of constituencies

327 III. Adult suffrage for elections

329 IV. Preparation of electoral roll

a b c d

I III v I

II III IAY I

I II 111 v

III v I II

(4)
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22, THEIIETH ar<aT STedid Giclielleh! Sivd faum St 312 ?

(1) wated ERETS AR " FEE gvam o bl sted sdd, s oA fee
ECCI R

(2) I =mErErE fdEn den veaue s s
(3) < UsaTET oH HEfITIE @ (First Law Officer) 814,

(4) W HagHre AfUETEE TSAfafiEEETeAr HivaE] GWAETA M g Ugd
WS ARUHT 3.

Which one of the following statements is correct about the Advocate General ?
(1) To be appointed, he must be qualified to be a Judge of the Supreme Court.
(2) Appointed by the Governor in consultation with the High Court.

(3) He is the First Law Officer of a State.

{4) He has the right to attend and speak in the proceedings of either of the Houses
of the State Legislature with a right to vote.

23,  UIET TSATAT TG 7351 HIAIGERIGR Wi eIdeh! iUl qiqg garacte 4787 ?
(1) TiEen SHTERAT §a Tat Th-gaareT STa.
(2) TSI fod AT ST U,

(3) Traffya gerfesrr=aian SR e I o arEdie, R T AVeAT UEeK TRV 9
EIGIES

(4) v=RE U9 g el wen @ wa g wematie Faes wen i,

Which one of the following was not proposed by the 73" Amendment in the area of
Panchayat Raj ?

(1) One-third reservation for women candidates at all levels.
(2) The State will constitute Finance Commission.

(3) The elected functionaries will be disqualified to hold their office if they have
more than two children.

(4) The election to be held with in six months if Panchayat Raj bodies are
dissolved.

THoeqT FHETHIST AT / SPACE FOR ROUGH WORK
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24. GeNadh wiuen dwEinsd Tougeda gt w0 T fmamiagn & Teeen foures=an

=g e B ?

#. Tl e

4. Hesh g e gt

%. wfagEren 7o s g=h

g Tt faum ufisg ® =

(1) &, 9% (2) A, Tl s
(3) A, FaMUg (4) «, % afirg

Which of the following are the matters on which a Constitutional Amendment is
possible only with the ratification of the Legislative Assemblies of not less than
one-half of the States ?

a. Election of the President

Representation of States in the Parliament

7th Schedule of the Constitution

Abolition of the Legislative Council of a State

a e

(1) a,bandec (2) a,bandd
(3) a,candd (4) b,candd

25, Wt St faum stew 7gia ?

A wmEEHE e ge SR Aftmrmhe Fet S

. UTHAdH B TwYuEdeT gfea Al

%, OmEEs g UHENET qiad WWUEE S Bl

T o 3o IR et S

3. At owEEdE A st

(1) = anfor g (2) o, % g
(3) & MM s (4) goamfurs

Which of the following statements are not correct ?

a. Gramsevak is appointed by the Chief Executive Officer.
b.  Gramsevak is a Secretary of the Gram Panchayat.

c¢.  Gramsevak also works as a Secretary of the Gram Sabha.
d. His payment is made from the Gram Panchayat.

e. He is a servant of the Gram Panchayat.

(1) aande (2) a,candd

(3) candd (4) dande

FoegT BIHTEIS! W | SPACE FOR ROUGH WORK P.T.O.



B06 14 A
26. TN SgSH T T st fvaTeETaE e FaTel S ?

A, poursh wertE e 9. oHeheUd § SISl

%, A firares 3. e ik

(D =enfrs (2) wFA

(3) w9 amfr= (4) T Imwr A

Who deceitfully handed over Rango Bapuji Gupte to the Britishers ?

a. Krishnaji Sadashiv Shindkar b. Vyankatrao and Bapuji
c.  Ramyji Shirsal d. Babasaheb Shirke

(1) aandb (2) aonly

(3) bandec (4) danda

27.  wdiven s BvaEdl fafew aieiie %2 we o Sen Tren. war g e wedie Tom Tened

g {7 Erefierdeh! e sa<hi=t Tl Bidl 2

H.  ITSIAE AW q. SIHEY TER8
*.  qigd W g fag fir

(1) A= (2) ®FIF

(3) % & (4) S8

An application was made to the British Parliament to stop the Sati tradition. On
behalf of Hindu people, Raja Rammohan Roy and who else from the following had
signed the application ?

a. Balshastri Jambhekar b. Jagannath Shankarsheth
c. Pandita Ramabai d. V.R. Shinde

(1) aandc (2) bonly

(3) conly (4) donly

28. fyfem 3 fireer areadiie Siven Ig@ s 30 wwa fren ?

(1) A=l (2) Aemd

(3) gt (4) va-gamn

Where was Captain Henry killed in a fight between Bhilla and the British ?
(1)  Ambapani (2) Nandgaon

(3) Nandurshingote (4) Peth-Surgana

THOET HATATS! T / SPACE FOR ROUGH WORK
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29. AR AIGFIA T Aol Wil Siven fagraaeR s et ?

v, e ws fuge
%. Yo @ fuga
. Mot faga
(1) wFaed (2) %W
(3) wamurs (4) wFS

Which of the following theories was/were used to measure the land of Indapur
Tahsil ?

a. Ricardo’s Volume Theory

b.  Pringal’s Volume Theory

¢. Nash’s Volume Theory

d. Goldsmith’s Theory

(1) aonly (2) bonly
(3) bande (4) donly

30, ‘@O IS WEAET 3 AeAg RSwET 9 B, W T e WY TeiEdagd

Ut TeRaT T8 IO Fied B 2

. HEwEr W

g, fag 9

F. GYE 9g 9

3. I Oy

(1) Thad 3 (2) BHE
(3) & omr & (4) wanfirs

According to Lokmanya Tilak, self-rule meant self-government, but according to
whom did self-rule mean freedom from foreign rule ?

a. Mahatma Gandhi

b.  Arvind Babu

c.  Subhash Chandra Bose

d.  Arvind Ghosh

(1) aonly (2) donly
(3) bande (4) candd

R BHTS! FFTT / SPACE FOR ROUGH WORK P.T.O.
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81. &et yume Tia ITH TR hifderRE Th HrRihg Te hol. S T6F AR B B ?

. faz gEmEw g, HEW HM

F. WER & am ERERILE I ]
(1) Fafrs (2) HaAMnE

(3) wHH (4) wHE

Like London, Indian revolutionaries also established an activity centre in Paris. Who
was the main leader behind it ?

a. V.D. Savarkar b. Madam Kama

¢. Sardar Sing Rana d. Shyamji Krishna Varma
(1) aandb (2) candd

(3) conly (4) donly

32. “& swivitne Rt oniw sRwl @1 wiig vuten i@ H1v Bl ?

(1) e oo (2) ImH. T@
(3) WRUR @ TfieEs
Who wrote “The Economic History of India” ?

(1) H.H. Wilson (2} R.C.Dutt
(3) Cartright (4) Hargreaves

33. 3.9 1889 =1 U= 3feaq Fyne HUE FfEYET TR Aq FO= 2 wigen gfafaeh
IO B ?

(1) gitem dengg amer foren T

(2) ufed wreTg enfor srsfiaré wrfrest

(3) Tt Tt Il SIgHAETS H

(4) f. o 97 sfor agw Rreerft Hm

Who were the two women representatives from Maharashtra for Indian National
Congress in 1889 held in Mumbai ?

(1) Durgabai Deshmukh and Lila Roy

(2) Pandita Ramabai and Kashibai Kanitkar

(3) Godavari Parulekar and Anusayabai Kale

(4) Dr. Annie Besant and Madam Bhikaji Kama

TOT HIETATS! ST / SPACE FOR ROUGH WORK
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34, UERR HiHaAE T TR FieT FHd T Ugd! Ahred e HIvRd uga fearmmeEt ?
(D yEEd (2) wWaad
(3) wEEERT (4) HNER
Which third method of revenue collection did Elphinstone adopt after rejecting the
methods of Cornwallis and Munro ?
(1) Pratwari (2) Ryotwari
(3) Kayamdhara (4) Maujewar

35. “‘Uaraed’ A WSl W B AR 2
. Ty, vfm onfor wweft Reverean frgron=h w7 =01
. o YT Hed S
F. o EIEm Riwfan
g, foruarea foamem e <o
(1) 31, ¥ smors C(2) wE A
(3) W= (4) ®9d 8

What were the objectives of “Sevasadan” ?

a. To educate Hindu, Muslim and Parsi women

b. To help them with medicine

¢.  Toteach them cottage industries

d. To encourage re-marriage of widows

(1) a,bandc (2) aonly
(3) bandec (4) donly

36. fs&wy, 1930 =0 somgEe Idie gedm oo AREYAE wuren stemsly o

“SrfeFeaEET ORI 9T e o TS SR 7
(1) TgHa et (2) ST
(38) . fomm (4) TS FoH

Whose presidential speech in the Muslim League Session held in Allahabad in
December, 1930, laid the foundation of ‘Pakistan’?

(1) Rahamat Ali (2) Igbal
(3) M. Jinnah (4) Lord Curzon

FFeedT FHTS! ST / SPACE FOR ROUGH WORK P.T.O.
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37. IV HEYH Ugdd Nk TH A s ?
(1) <pEFY (2) HHeHE
(3) wWaar! (4) TEEd
In which land revenue system did peasants acquire ownership ?
(1) Kayamdhara (Permanent) (2) Zamindari
(3) Ryotwari (4) Mirasdari
38. Ty nde feramre Sy 2varerdt wirdt fgaeniioes ge wel 2
7. foawesh ¥, =
F.  HgHIH T 3N
(1) & A (2) ® T ®
(3) wHS (4) 1, @ oY1 =+
Which periodicals were started to respond to the writings in ‘Gyanoday’ ?
a. Vicharlahari b. Chandrika
¢. Saddharmadipika d. Induprakash
(1) aonly (2) bande
(3) donly (4) a,bandc
39. Ssrta fae’ @ AR tiemd g smeen Faer W dwsHes T Sesr @l
el ?
(1) 16 3A¥e, 1932 (2) 17 HTEE, 1932
(3) 18 AT, 1932 (4) 20 A, 1932
When did Ramsay Macdonald declare the famous judgement in history known as
‘Communal Award’ ?
(1) 16 August, 1932 (2) 17 August, 1932
(3) 18 August, 1932 (4) 20 August, 1932
40. TFEm 9= ufge ifEye Sid T Fdt W g ?

(1) 13, 1942 (2) 3T, 1945

(8) e, 1945 (4) O, 1942
Where and when was the first conference of Kisan Sabha held ?
(1) Mumbai, 1942 (2) Thane, 1945
(3) Titwala, 1945 (4) Pune, 1942

FTTgT HIHTAIST TR / SPACE FOR ROUGH WORK
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41, el e g o7Td, RO

wad A M F
wFd § I F
TR A, § AT F
A, |, F MM

Black soils are fertile because they have

More moisture holding capacity
More ratio of calcium

More ratio of alluvial soil
Sufficient magnesium carbonate
a and b only

b and c only

a, b and c only

a,b,candd

B06

42.  TES YeHEARS e w8

Observe the statements regarding Red soil :

b.
c.

(1)
(2)
3)
(4)

The percentage of humus is more.

The percentage of organic compounds is less.

The soil 15 red due to aluminium oxides.

Statements a and b are correct
Statements b and ¢ are correct
Statements a and b are incorrect

Statements a and ¢ are incorrect

FHoeq] HHTHIS! SR / SPACE FOR ROUGH WORK

P.T.O.
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48,  TRATh g @it Red o 2

(1)
(2)
(3)
(4)

3214 Tt
3014 Fr. 4t
2933 13 1.
3312 ot

What is the length of India from the South to the North ?

(1)
(2)
(3)
(4)

3214 km
3014 km
2933 km
3312 km

44, <@ IS I Hietean A= 3R,

(1)
3)

200 - 300 (2) 300900
100 - 300 (4) 500~ 700

The height of the Deccan Plateau is between metres.

oy
(3)

200 - 300 (2) 300-900
100 - 300 (4) 500-700

45, @relle fagm ugr

.
9.

h.

(D
(2)
(3)
(4)

FIFATGEITR ShIHTEES IcUTE el .

et reandie T e STedTge J9ed.
e o1 anftr 9 SO MR

fqum = anfor % st smRa

foramr 31, 9 anfor = =X ATRT

e 31, @ 3nfor % SR TEa

Observe the following statements ;

a.
b.

c.

(1)
(2)
(3
(4)

Chromite is produced from Bauxite.

Bauxite is found in Shirala tahsil of Sangli district.

Bauxite deposits are available in Tungar hills of Palghar district.
Statements a and b are correct

Statements b and ¢ are correct

Statements a, b and ¢ are correct

Statements a, b and ¢ are incorrect

Hoed] FHERTS! SR / SPACE FOR ROUGH WORK
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46. Wi foum e

.
T
.
(1)
(2)
3
(4)

T TS BT SHieceAT S fHERome R Bt
TERTSZTEAT 80% SUeTaR e FIo@sTdia Aieg o 3.
% faum 31 SO 3T

w5 faum 9 s 7@

faum 31 onfor 3 s oTRa

foam o1 anfor = a0 e

Observe the following statements :

a.
b.

c.

(1)
(2)
(3)
(4)

There are lateritic plateaus on the Konkan coastal beit.

Lateritic rock is produced due to mechanical weathering of Basalt.
The 80% land surface of Maharashtra is of cretaceous lava layers.
Only statement a is correct

Only statement b is incorrect

Statements a and b are correct

Statements a and ¢ are incorrect

47, Ted faum 98

.
3.

%.
(1
(2)
(3)
(4)

IwmERiaty werela o TEndea Ifmsdia JaNeR TeeaTd.
Iurehfeatfia wEERT ST I T F¢ FEATd.

Td, REW, W 3. 98 TS IwTiadia i o STgeard.
Hd faue & s 3R

Fad faue 7 S o

% faue & e T

faum @1, 7 anftr % atr A

Observe the following statements :

a.
b.
c.

(1)
(2)
(3)
(4)

Tropical evergreen forests are found on the western slopes of Sahyadri.
The trees have broad leaves in tropical evergreen forests.

The important trees found in the tropical evergreen forests are Palas, Shisham,
Khair, etc.

Only statement a is correct

Only statement b is correct

Only statement c is incorrect
Statements a, b and ¢ are incorrect

T PIHTATS! AT / SPACE FOR ROUGH WORK P.T.O.
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48,  Sire o

FeARTTT FTAI
9. EShdryell shlefdr
%, T smEr ¥ FemE
s firon e

A q EX
(L 1 v I
(2) 1V I IT1
3y III I v
(4) II I IT1
Match the following :

Irrigation canal
a. Krishna Canal
b. Khadakwasla Canal
¢.  Nira Left Bank Canal
d. Girna Canal

a b ¢
(L 1 v I
2) IV I ITI
(3) III II v
4) II I IIT

22
R &
I. 1875
II. 1870
III. 1885
Iv. 1910
g
I
I
I
v
Construction year
L 1875
11. 1870
III. 1885
v. 1910
d
ITI
I
I
v

FoeqT BETATS! SN / SPACE FOR ROUGH WORK
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49.  HiHUET IW T glawr HiwT FHEH Tt fifvea Sheft amR.

(1) 3= I gEOFTT A T

(2) THUOET ¥ TEe T

(3) T S AL 9

(4) Jarom & RE T =i

The North and South boundaries of the Konkan are demarcated by
(1) Achra to Damanganga rivers

(2) Damanganga to Terekhol rivers

(3) Tansa to Gad rivers

{4) Vaitarna to Terekhol rivers

50. 3o fieh 39 IR AN i A S ?
(1) Toygt
(2) HIHEA
(3) ToaE
(4) =u3

Where is fig (Anjeer) cultivation taken on a large scale ?
(1) Sindhudurg

(2) Kankavali

(3) Rajewadi

(4) Vasai

51, WRAWIH T STaETse ITATEATash! fohdt zaeh IeTE fogr TSI B ?

(1) 20% (2) 32%

(3) 36% 4) 27%

How much percentage of bauxite is produced in Bihar State of the total production of
India ?

1) 20% (2) 32%

(3) 36% 4) 27%

Poeg] RIS AT / SPACE FOR ROUGH WORK P.T.O.
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52. WENYHE W@ faen q TR,
(1) 70°5 @ 80°9

(2) 71°6 4 81° 8
(3) 72°6 9 80°9
(4) 72°12 d 81° 8§

The longitudinal extension of Maharashtra is from to
(1) 70°5 t080° 9’

(2) 7T1°6'to81° 8

(3) 72°6 to80°Y

(4) 72°12to 81° &

53.  welel foram T |
A, Hered frgeh = 7817 . o8,
3. femoEre Seiten fadig sfir 9 @ ant .
%, sy e s e w1 e,
(1) Wod faum 3 SO aTR
(2) waa faum % w0 o
(8) faum 3 anftr 9 SR s1Ra
(4) four @1, 9 a7foy = w0t ot

Observe the following statements :

a. The height of the Nandadevi Peak is 7817 m.

b.  The Shrinagar — Leh route passes through Zojila Pass in Himalayas.

¢.  The height of the Badrinath Peak is less than that of the Gangotri Peak.
(1) Only statement b is correct

(2) Only statement ¢ is correct

(3) Statements a and b are correct

(4) Statements a, b and ¢ are correct

FeeqT HHTEE SN / SPACE FOR ROUGH WORK
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54. @A faume wer

H.
.

6,
(1)
(2)
(3)
(4)

30 Rreardier arraiiell 49 T YvaT IR RA.
TETeR Y 87 Riaeg wE= gaes TR,
Ied HrEw AT FglEn wdied Hg IR,

Had U & S0 R

Ged faYH & Qe 3R

foram a7 anfor & s=t aTEa

o 31 anfo % =TT 3nEa

Observe the following statements :

a.
b.

c.

(1)
(2)
(3)
(4)

There are hot springs at Akloli in Thane district.

Guhaghar tourist spot is located to the east of Chiplun.

There is a medical tourism centre at Uruli Kanchan.
Only statement b is correct

Only statement c is correct

Statements a and b are correct

Statements a and ¢ are correct

B06

55. @riid faum gg :

.
T

.
(1)
(2)
(8)
4)

92 31 3cHE WhRET FisHl A2,

TR 97% HISaTE Iearer S fvmmeT g
forgm mefter hofq A i IcuTeA Saet I,
FFa faum oF sie 3R

T faur % 0S8

wFd faum a1 et = s Tndla

faum™ o1, & 7M1 % SEE AEd

Observe the following statements :

a.
b.
c.

(1)
(2)
(3
(4)

Peat is a superior quality coal.

97% coal production comes from tertiary sector in India.

Coal is found in Karnpura in Bihar.

Only statement a is correct
Only statement ¢ is correct
Only statements a and ¢ are incorrect

Statements a, b and ¢ are incorrect

HTTYT HIHTATS! AT / SPACE FOR ROUGH WORK
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56.  @Elierdeh! Hivrem Iu TE 3t IeTeATde A1fdE gt g Faitus (9-7%) Bt ?

(1) 2005-06

(2) 2006 -07

(3) 2007-08

(4) 2004-05

In which of the following years, was the annual growth rate of GDP the highest
(9-7%) ?

(1) 2005-06

(2) 2006-07

(3) 2007-08

(4) 2004 - 05

57. g donsiaa sqaditieh seh1 dara] AR foprd U@ e [y meeg 2

(1) SLR (2) CRR

(3} Repo (4) OMO

The minimum cash reserve which the Commercial Banks have to keep with the RBI
is known as

(1) SLR {2) CRR

(3) Repo (4) OMO

58. i fapmmardt fmgaar enfo feaadai=n yorer arfavd gwror o
(1) onf¥= drm
(2) fowmE aro
(3) difges uww
(4) TomEhINE gRe
The policy of adequate financing for economic growth and at the same time ensuring
reasonable price stability is known as
(1) Economic Policy
(2) Development Policy

(3} Monetary Policy
(4) Fiscal Policy

FOEIT HETATS! SIFT / SPACE FOR ROUGH WORK
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59. Siewn @M
T3 T
A THNE R I TR WHNE Ty gEe e
¥, duweE II. WEge STaaTeen ey @9 ifus au
F.  HEE qC III. WvT Gt UEw Siadie Al aen &
s Wufs IV. TEW G TR THadd e e 9 9 samwead]
H ) E2 €
(1) III 1 IT v
(2) Iv 1T 11 I
3) I ITI IT v
4) I I A% IT
Match the following :
Concept Explanation
a. Fiscal Deficit I. Total expenditure is more than total income
b. Budgetary Deficit II. Revenue expenditure is more than revenue income
¢. Revenue Deficit III. Excess of total expenditure over total income —
debts
d. Primary Deficit IV. Excess of total expenditure over total income —
debts and interest dues
a b c d
(1) III I II v
2y IV III II I
3) I 111 11 v
4) III I v II
60. el wuw T oy € Wy 2 AdE ?

(1) TrEIS TG T + JETof 3t

(2) THATSA VG THH + U T T SITH HTCTHT
(3) T qEolt 3t + i geeean 3t

4) o it gedten 39 + 0@

Which of the following is called ‘Narrow Money’ ?

(1) Currency with the Public + Demand Deposits

(2) Cash with the Public + Jewellery and other Movable Property
{3) Public’s Demand Deposits + Fixed Deposits

(4) All types of Deposits of Public + Securities

FTdT HHTATS! AT / SPACE FOR ROUGH WORK P.T.O.
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19T e H TeETeh FoHie GuET q deta gewere il IRy v
(1) TEEE g AT At S

(2) s fremar i s

(8) Tourfy ooaa

(4) afenfieo

The most important economic objective of our first three Five Year Plans was
(1) To create socialistic pattern of society

(2) Reduction in economic inequality

(3) Regional balance

{4) Industrialisation

62.

gefter 3 wEd Wi T @ P Seeemerdte st TR wh Sfeen auwad R
100 feam T Trdt Fres g Treftadsht Hivmn Je-ges w1 et ?

(1) TR &t FeeT 1971

(2) T &ft FEET 2005

(3) ETER USIR A1

(4) = Fivreargt T

A legal guarantee for at least 100 days of employment to one person in every rural
and urban poor and lower middle class family per year is provided by

(1) Employment Guarantee Scheme 1971

(2) Employment Guarantee Act 2005

(3) Jawahar Rojgar Yojana
(4) None of the above

63.

(1) et ofer

(2) . aeda anfir seegEiern
(3) T, &, anen

4) 0w wd

The estimates of poverty in India have been provided by
(1) Dandekar and Rath

(2) Dr. Bardhan and Ahluwalia

(3) Minhas, P.D. Ojha

(4) All of the above

TR HHTHIG! AT / SPACE FOR ROUGH WORK
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64. WiCAIH! HOH T I 41T Jeaed S Giar (DTC) Hor 318 ?
(1) YRATde Ie9= L g 1961 (2) WA ATIE L dlgan
(3) AT Yeas e wfga (4) T Hemsd
Which of the following will now be replaced by the New Direct Tax Code (DTC) ?
(1) Income Tax Act of 1961 in India (2) Indirect Tax Code in India
(3) Direct Tax Code in India (4) None of the above
65. WRAT AU IATCATET Ia4dl A Wiciadeh! HvaT 3T, § @i,
(1) 7§ —¥iges — Sl — W g
(2) UGB — g - TR — TS
(3) TE -GS ~ WG U — [
(4) TGS — 7§ — WE g — ST
State the production of Indian foodgrains in their descending order.
(1) Wheat - rice — pulses — coarse cereals
(2) - Rice — wheat — pulses — coarse cereals
(3) Wheat —rice — coarse cereals — pulses
(4) Rice — wheat — coarse cereals — pulses
66. T 2008 — 09 wEA wraTeN TE Fafdmed e gy e waifte Ryg e 2
(1) e (2) THRIE TR
(3) W v (4) AR T
Which group formed the major part of India’s export to foreign countries
during the year 2008 — 09 ?
(1) Agricultural products (2) Chemical products
(3) Petroleum products (4) Engineering products
67. WA AT GeE SR O YAY STEE 3T A Giefiadt e |fd e/ i

et ?

(1) ey (2) SR
(3) #0wa (4) THH

Which Committee/Commission from the following suggested that foreign banks
should be given a free entry into the Indian money market ?

(1) Narsimham (2) Venkataraman

(3) Nariman (4) Rangarajan

HoegT HHNTSE SR / SPACE FOR ROUGH WORK P.T.O.
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68. NAMA TR
(1) Non-Agriculture Market Access
(2) Non-Agriculture Market Association
(3) Non-Agriculture Goods Market Access
(4) None of the above

NAMA means

(1) Non-Agriculture Market Access

(2} Non-Agriculture Market Association
(3) Non-Agriculture Goods Market Access
(4) None of the above

69. |7 2001d 2011 I TIH YRANIA ARG Jgicl @ BAN Wiefiade! fadt g ?
(1) 247 (2) 239
3) 215 4) 17-64

During the years 2001 to 2011, the growth rate of population in India was
per thousand.

(1 247 (2) 239
3 215 4 17-64

70. MRTP $RE FIVT FRGHS & e ?
(1) wherd fewr s
(2) 9l ST 2002
(3) =R Sfew g
(4) =R T FEE

MRTP Act was replaced by
(1) Monopoly Control Act
(2) Competition Act 2002
(3) Trade Practice Act

(4) Trade Regulation Act

FreedT HHTATS! SIRT / SPACE FOR ROUGH WORK
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71, SgleAnw fRare e waweT et e s weeTe 3% A, HRO
(1) Teares fhan wraGTeaTa Tadiel SgaT Sieq 1.
(2) feare e ueETETE T9E g S AT
(3) IRIATA g1 G FHt 7.
(4) e fhan yraETeATe gadE AgAT 9 A= g R STl
Sound can be heard distinctly at longer distances in winter or in rainy season rather
than in summer because
(1) humidity in the air is greater in winter or in rainy season.
(2) air pressure is greater in winter or in rainy season.
(3) air pressure is less in summer.
(4) humidity and air pressure are greater in winter or in rainy season.
72. 29 9UM quh WYH e Sevimed 7 TR guiw Sevimed V fam e daw S
FHYITY.
Grefian<ht g faum g a8 ?
(1) I Srevfimed gam gl (T<hY) @ B,
@) w Srevhve wEiR S da s W () @ dd.
(3) WS JAreviied TG SISl Y& Y Yiaw (Ieh1) = Big.
(4) 3Tt wfEe,
Two identical resistances are connected in series first and then in parallel
combination to a source of emf V.
Which of the following statements is correct ?
(1) Both the combinations consume the same power.
(2) Series combination consumes more power than the parallel combination.
(3) Series combination consumes less power than the parallel combination.
{4) Insufficient data.
73, AT V] g T (o) FHOT IJeAlA FTeTHAR Y B ?

(1) 319 3 2+ T 3] FEgamTH 4 .
(2) 9 A% 4 H T a7 FEgEES 2
(8) V] 31 4 1 § ] TEgAEH 4 .
(4) ¥ % 2H 9 A FFGHEEH 2.

The emission of an alpha (a) particle from an unstable nucleus reduces
(1) the atomic number by 2 and mass number by 4.
(2) the atomic number by 4 and mass number by 2.
(3} the atomic number by 4 and mass number by 4.
(4) the atomic number by 2 and mass number by 2.

T HTHTATS! FRT / SPACE FOR ROUGH WORK P.T.O.
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74. R gEUTET . (pH) 19T 4 Wd Jefaeas wde dgee (1Y < e

(1) = g (2) ared Sd

(3) &= TR (4) @ 39 T

When the pH of a solution increases from 1 to 4 the concentration of H' ions
(1) Decreases (2) Increases

(3) Remains same (4) Cannot be stated

75. gl YIRS IFcgfufrem 71 Uy weheT fend! YT sTeesdr ?

(1) 2049 25% (2) 79 8%
(3) 709 75% (4) 507 60%
The percentage of Aluminium in the Earth’s crust is

(1) 20 to25% (2) 7 to 8%
(3) 70to75% (4) 50 to 60%

76.  Wrelialsh U Yeiged UTqHgH 32 ?

(1) Fegftism (Al (2) Frefteia (SD
(3) <fiE (Pb) (4) HfRe™ (Ca)
Which of the following elements is said to be metalloid ?

(1)  Aluminium (Al) (2) Silicon (Si)
(3) Lead (Pb) (4) Calcium (Ca)

77.  Tacrest few wdaTaoM I AiEd esdd ?

1) TsH (2) s

(3) T HrEgEIEd 4) I gk
The silver fishes commonly live among

(1) Rocks (2) Algae

{(3) Other fishes (4) Old books

78,  Fgg 7Or YR STHVIN BT SRR e Woft g

(1) Tfakms (2) W&

(3) gF (4) TG

The amphibian with tail and limbs is

(1) Caecilian (2) Toad

(3) Frog (4) Salamander

FroeqT BTHTETS! TN / SPACE FOR ROUGH WORK



A 33 B06
79.  ufits R AT i SR 2
(1) TR (2) g
(3) e (4) arERIFSH
Which hormone is required for natural parturition ?
(1) Oxytocin (2) Vasopressin
(3) Adrenaline (4) Thyroxine
80. AT QoSS FEiRS SSHA 3 o Y TR @,
(1) wrEw 3o Fewht
(2) wmEw T difsan
(3) W Teihe AT wEA
(4) IR GeHe AT AT ToH
The most effective fungicide, Bordeaux mixture, is prepared from and
(1) Lime and Sulphur
(2) Lime and Sodium
(3} Copper sulphate and Lime
(4) Copper sulphate and Wettable sulphur
81. 1 e SfeerEa FEvE 9T .
(1) =TT (2) fegaian
(38) Figed (4) &Hiem
bacteria are used as biofertilizers.
(1) Rhizobium (2) Vibrio
(3) Bacillus (4) Spirillum
82. ity T Fadie o (et weht omg enfi e e geee
HIe St 7ed FE giterar argavaradt Sw .
(1) FAFSIFIE ST FARET (2) FIqeie M a7
(3) deiftar anfor geifar (4)  gerrefieg st 3ycregr
and have the power of fixing free nitrogen and hence are used in

waterlogged rice fields to increase the soil fertility.
(1) Chlamydomonas and Chlorella (2) Nostoc and Anabaena
(8) Pandorina and Eudorina (4) Ulothrix and Ulva

HEE] HHIAIS! ST / SPACE FOR ROUGH WORK P.T.O.
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34
T g SREmYT Ft e,
(1) 9 Frarbert
(2) 7 frarhart
(8) 2 Frarhert
(4) 4 FFarbat

Protein can provide energy per gram.
(1) 9 Kkcals
(2) 7 kcals
(3) 2keals
(4) 4 kcals

84,

formaftafda aiges S “dt ige” TEvER SleEE Wd, T JEI S 3T 7

(1) e

(2) fEa-HUda

(3) TN

(4) Terraisfes

The transgenic rice, popularly called as “Golden Rice” contains good quantities of
(1} Anthocyanins

(2) B-carotene

(3) Agglutinin

(4) Haemopoietin

85.

SRR S Segst aRpAde fafaw fmrer s wrefesEmr s

(1) T, G390, Havl (SEg) AT et

(2) &AW, TMe0!, TA:NOT AT Ieesi

(3) T, e, T e SeE

(4) T, T, R T e

The order of different steps involved in renal excretion is as follows :
(1) Filtration, Reabsorption, Secretion and Excretion

(2) Secretion, Filtration, Reabsorption and Excretion

(3) Reabsorption, Filtration, Secretion and Excretion
(4) Filtration, Secretion, Reabsorption and Excretion
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86. W IT M7 afmen AT Wl FE, WA IRH B vda gigsvamardt fohd wnt 3gesy
AT ?
@ |
[
7N
N
|
(n 7 (2) 10
3y 11 4 12
If moving north and west is not permitted, then how many ways are available for
reaching from Ato B ?
® 1
7N
N/
L1
[
(1 7 (2) 10
3y 11 (4) 12
87. m#amwgaﬁa.‘zg e FEH AR, TR G FEET GEaTdien 80 m R ATl g

feeht, onfr o v a=a sifom gw siwTea o X uravg ot fendt 2
(1) 140m (2) 160m
(3) 120m (4) 128m

Anand is 2% times as fast as Balu. If Anand gives Balu a start of 80 m, how long is

the race track if both cross the mark at the same time ?
(1) 140m (2) 160 m
(3) 120m (4) 128 m
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88. fe=m, T, sy enfor i O we 99 5 oY R, TS 99 2 9§ 3@, 9 6 quiEl AR,
anfor firare o 7 ¥ amg. fmm, foelt gea s T, A wis e, faeh gl 3o g
T, famr oo wie #m afor feren weher wis g A WO ww 10 99 oM. TR a9

18 9% 1R, firelt 6 i<t e, g awten s,

JIATE 99 SO g s,

(1) 14a9 (2) 1698
(3) 1899 (4) 2478

Average age of Divya, Raja, Bano and Mita is 5 years. Raja’s age is 2 years, Bano is
6 years old, and Mita is 7. Average age of Divya, her cousin Naina, Naina’s brother
Nishi, her other cousin Priti, her twin brother Scumya and her younger brother
Guddu is 10 years. Nishi’s age is 18 years, Priti’s age is 6 years, Guddu is a year old.
Choose the option that indicates Naina’s age.

(1) 14 years (2) 16 years

(3) 18 years (4) 24 years

89. 22, 36 =i 66 T 3w ww I wald wEw b @t e,

(1) 3456 (2) 4356
(3) 5346 (4) 4536
Choose the least perfect square that is divisible by 22, 36 and 66.
(1) 3456 (2) 4356
(3) 5346 (4y 4536

90. i Infr a1oy SR AMiaw =nad 3Rd. e areft 3 %= a =Terdt sufor avog aref
2 % FH A1Ad1. SR FH T3t 6-30 T Tha fowmmed faeg fewreht SR gear
efl, aX Tl 800 aravaTgd o foRdt Ja31 whHSHT SAATEde ?

(1) 8 2 7

3) 6 (4) b5

Arjit and Appu walk around a circular track. Arjit walks at a speed of 3 rounds per
hour and Appu at a speed of 2 rounds per hour. If they start at 6-30 a.m. from the
same point in opposite directions, how many times will they cross each other
before 8:00 a.m. ?

1) 8 (2) 7

3) 6 (4 5

T TS SR / SPACE FOR ROUGH WORK
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91. UF 9K ga3qd foon 9@ oTaR fteaw 484 ). uift @9 @fcw +@. @@= e IgBER
oo ot Frdlt B i e 2 [;;? mqer]
(1) 462, uift (2) 539 . gt
(3) 6164, A (4) 693 <. adt
A wire when bent in the form of a square encloses an area of 484 sq.cm. What will be
the enclosed area when the same wire is bent into the form of a circle ?
[Take n:2_2]
7
(1) 462sq. em (2) 539sq.cm
(3) 616sq.cm (4) 693 sq. cm
92. fag, w7 g & i fim omga. =i o Jgfie @i’ 99, e g @

serdr, ST ToheTo weher @Y ST Wehel Wie 19T Sier.

IAYF TRV Tkl 3T IS Md Y REmen. “greatdt Jpde @i dem s 27
TreTe 9die I Tverett

ot = fam

e = ot

a3 =i

ITTE TEH! T ST SR .

(1 T

(2)

(3) it

(4) == Fifvaa o) TER gus FEvas IR

There are three friends, Niyaz, Ravi and Andre. One of them always tells lies, one
always tells the truth, and one alternates in lying and telling the truth.

As an investigator you ask each of them separately, “Who among you always lies ?”
You get the following answers :

Ravi : Niyaz.

Niyaz : Andre.

Andre : T do.

Now figure out the person who always tells the truth.
(1) Niyaz

(2) Andre

(3) Rawvi

(4) Some clue is needed to figure out the name

PTEGT NS ST / SPACE FOR ROUGH WORK P.T.O.
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93. T vfam wiferhdte yeafamgTean fomml davamardt vata e

& 2 7 B

&P GP v g9 2
S, @ & &

&> % & o

(1 (2) (3) (4)

Select the option to replace question mark in the given image sequence.

B & o o8
g 4 e s o
N U
& dp 4 ob

(1) (2) (3) (4)

94. UEEEA UUE 7 ITSAGT I B WaEA I qeT A T wrear Adw, ot wfae
e
(1 (2) (3) (4)

Select the image that could be drawn without taking the pencil off the surface and
without drawing along a line twice.

(1) (2) (3) (4)

Toe] BTSSR / SPACE FOR ROUGH WORK
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7
)

~© g
&
>~ D

:
r@\@m@f@

Select an option for replacmg the question mark.
(1) (2) (3) (4)

ToE HFHNTS! SR / SPACE FOR ROUGH WORK P.T.O.
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96. ST fewmft vt T Age ?
0 ? 63
35 3 80
24 | 15 8
(1) 4 (2) 8
3y 7 (4) 48
What number will replace the question mark ?
0 ? 63
35 3 80
24 | 15 | 8
(1) 4 (2) 8
3) 7 (4) 48
97. Ydeh wh =uh RN v wW. e o 9 faam wd swdie, @ e gan

Frave Rreneft 2

FAT = “A” Tt “B” 3 whivreadl gend s foreft .

T = “A” 98 P e

THT = “A” TR “B” ¥t went vaTH Fagus et

1 A (2) B

(3) a8 um (4) whivrardt g7 foreren T

One among the following persons makes a false statement. Which party will win the
election, if two persons make a true statement ?

Kama = Neither party “A” nor “B” wins the election.
Nama = Party “A” wins the election.

Pama = Either party “A” or “B” wins the election.
1) A (2) B
(3) Both parties (4} None of the parties wins

FTET HHTHIS! WA { SPACE FOR ROUGH WORK
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98. Wi feotew = yfemidier s wiem fafde soen &9 a4, o1 YeRRig 3 ==l wfam s,

0|+ +|A AlO O|D AV
Ol|A 0| O X |V +|0 o|o
x|V V| X 0|+ x|V X |+
1 2 3 4 5
() 2
(2) 3
3 4
4 5

Five images are given in the question. Four of these are alike in a certain way. Find
the image that does not fit into the rest.

3|+ +| A A|O (@) [n! AV
OlA = O X |V +|0 @) =]
X |V V| X Ol + X |V X |+
1 p) 3 4 5

L 2

(2) 3

3) 4

4) 5
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99. R Hiaaea JFHANIA T FEvE fawes 100% 3EH, @ e GHvme fawe fhd

T R ?
10
13
1) 120% (2) 130%
(3) 160% (4) 169%

If the area of the top triangle in the accompanying figure is 100%, then what is the
area of the bottom triangle in percentage ?

10

13

(1) 120% (2) 130%

(3) 160% (4) 169%
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A,B,C,D,E M7 F § gd ¥ ea. C & shwian =u<hl E < 98« amea. A F <t
3t oy Rreeieer 2ft. B € ocbl B 9 onsiien owgy Sas 31Rd. goad o fammeff
T N TS RA. THI HEEE v H@auaETdl Fed IR W GE Al GHNEEId
YEETHTE! Fed M8, A 3N e WSl e, FgAa UHAv I, THAT Fraa e,
T G ST T e SR,

D 91 sE=hT sqagTd e wbie e
(1) T yediend! srevm ferameff

(2) W™ Tedtarat sevm faemeff

(3) =gl
{(4) Do saeunr Seutdiel aegierd) gacedt @

A, B, C, D, E and F are family members. C is an Engineer and is the father of E. A is
the grandmother of F and was a Collector. B is the grandfather of E and is a Farmer.
There are two students in the family who are siblings. One is pursuing law degree
and the other one a degree in social work. There are two married couples. There is
one Farmer, one retired Collector, one Engineer and one Neurosurgeon in the family.

Choose the option that indicates the profession of D.
(1) Student pursuing law degree

(2) Student pursuing social work degree

(3) Neurosurgeon

(4) No information is provided relating to D’s profession

FoeqT HIETEIS! TR / SPACE FOR ROUGH WORK
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(8) vyfEREe fafte Heea fafine arfe £ FM (6 96) FU9. TAgETSldiEd ITMEFERE 91 30t
FHIER F HH FeIE @ DAt FOTSAT I Fe I, 3 TR Feed I AGHN I T
TR Foen ghamel gom=n R yiaEgy woaeEay siifem 82" ade aEdar srens
w0 I 9 ) el FEE T g HrEErer 3/ R T U TR e e haw

IS B

(9) T weulRREdl e fafem ¥t 92 duemHar Icaen € g Fed aie st
USH T WEET AR, W GOSTRYTETR A SHTER ATIeaT ITRGThe WH-1
FHAETHS 7 e e w0 ATy AT,

.3, 201.

0.k, 201,

ol il URsl
Tt = T FOATEd! Sl g A e ?
(1) Tanft Tae guad (2) $yaag FRTEIR
(3) TN THEEA U4 (4) TOTSFS TER
o YR A IR (3) T THATE 997 o8 e, e 3 e I (3)” Bide. Iad
AR Y3H . 201 §HE Iaewne (3) e quien Smifed wEA qrafan
HETE AR,

@ @ @ ®

T TN WEga TR YT YeETeT qHwn SOUhAT 81 qraTen Tadsdicn e
TAUGRET o W TR Faiid 9ge Pl SRifed e JrEaEl. mreRiEr
T TTedl VTR Fietd= araad, of e a1 wmgs O anas 19,
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